Formal Written Method (No Borrowing)
	1a.
	
	
	
	b.
	
	
	
	c.
	
	
	
	d.
	
	
	
	e.
	
	

	
	3
	3
	
	
	2
	5
	
	
	1
	6
	
	
	2
	7
	
	
	2
	9

	-
	1
	1
	
	-
	1
	3
	
	-
	1
	0
	
	-
	1
	6
	
	-
	1
	2

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	f.
	
	
	
	g.
	
	
	
	h.
	
	
	
	i.
	
	
	
	j.
	
	

	
	2
	6
	
	
	3
	2
	
	
	2
	9
	
	
	4
	2
	
	
	2
	7

	-
	1
	3
	
	-
	2
	0
	
	-
	1
	4
	
	-
	1
	2
	
	-
	2
	3

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Formal Written Method (Borrowing)
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Worded Problems

	3a. I went to the shops and bought a drink for £0.89 and a packet of crisps for £0.50
I paid with a £5 note. How much change should I receive?



	3b. A packet of pencils costs £1.10 and I buy 3. How much change will I receive from £5?



	3c. We had to drive from Edinburgh to Glasgow, which is 50 miles. We stopped 33 miles in. How much further do we need to drive?



	3d. Mr Wallace bought 300 coloured counters and Mrs Fairley bought 177. Mr Docherty borrowed 60 counters, how many would Mr Wallace and Mrs Fairley have in total?





